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N1P2K> 104.8? 6.62 5.42 13.42
N2PoKo 104.72 6.62 5.42 13.8°
N3P2Kj 97.1° 6.6° 5.32 12.28b
NoP1K; 106.5° 6.8° 5.42 12.72
N2P3Ko 98.5° 6.7° 5.3? 12.12b
N2P3K 1 94.2° 6.5° 5.2° 12.6°
NoP2Ks 106.72 6.8° 5.42 13.9°
N1PKj 104.3? 6.62 5.42 12.42b
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B R ALRARTE S A 2 T3]
MKIS
PR ARG T4 R BR(EE) SR LR DY BAS > ARHR2 G L
ARERY G BMNA BFEERIE SRET RS ELTE £ 0
PR REET RN RER T BB OB A BHEEFE
FLd B3GR 0 BT G SRR Sed L DR B TE Mok gL g
TWEFZ AL FoMORB G R E s Bk H kT A Ra ¥
WArbAB N e 0 R A RIER NI 45 BRMH S Mt Wk d - > ABRER

Mg S s 20~30ppm R AR Y U2 A A F ok B G g ok
M o "lﬁfi arg-.‘grﬁ.;_ ,{grﬂﬁﬁﬁ&ﬁg%f;«%év\g‘,r{;ﬁ*%@l FJgL'rEré =, 1’3)\_3,
Ekﬁﬁﬁzkkﬁi”%ﬁuki*ﬂnwk’*é%*% o B

Ao R & pe 20~30 ppm & TR HH EAAGCE 2 LG e E
PopHpE kg - B EE- Lo o



